(ZalEF-& ) 2025 &F5 AR#rIcERAINIBEE

2EFDQSNRLVIIA,

BMIaE-r (RERSHRESRSSY) KeiYo GAS
2025 %5 A
X o 3
Bex 1 "TF?E " f*’”ﬁ WD) wune @) x
1hADHRT{ER=E (HRA—%—1{EIc> =A%) (1 m357- Y Ef)
e A 0mA 520m £ T 815. 10 m 186. 64 m
Bl4e%B 20m% - 2100m £ ¢ 1,171.50 m 168. 82 m
BexC 100m % = 2350mM £ T 1,986. 60 160. 67 m
Kle®D 350m % = 2 B1BA 6,609. 90 m 147 . 46
CEARS I BEREEBEE CLVEBZHNHY T, <bLAIRENRKT—LR—VEIBEILEE L,
STEFRORE TSy ARRELR SR YA XREANX X BHE HWRIEEE0BMSE) THERETEEXT,
w2z B3I LRE e
25| & G =2
23| 3 % 1,048 A #AERAEOMIFRZINEI (RIBIE=0MD) LAY £T,
[t& %]
HARE = EEARE + RERE — ZI5|2E xy2-6M80 Mz esa @EEE-08) 49 7,
= (@ (EFxpe+ (Baple x ARIEHAE) ) x1 —  (25E8HEE x FE]EK ) x2
x1 ¢ IAFREUVET %2 ¢ 1IHEKREHTY EIF

(WHERSEMALEE) = AREE x HERX + (1+HHEBEMX) XIPRSBMYET
X 1hBOAHRIERARICL Y, HERA~DLWITIAZERW-LET,

(SEzS:pAS e
TalF-&c 1hrBocEAESY 30 md DEs

Z0HE KEKRB QomzZx100mET) oHEHARS, HOREAEAINET,

OEARE = 1,171 .50 M

QtEr% B4 168 .82 B x  Z#EME 30 . = 5,064 .60 M

@ZEgTRle= © 1,171 .50  + @ 5,064 .60 @ = 6,236 M

e S 1Dk &

@%E)5|%8 = @ 6,236 B X FE=x 3 % = 188 M

% THEI%8) 12 [HEHE] CELET, *1ARET Y £
[H5B%E] & RS en=8E] IThYET, xE5| EBR%E 1,048

HAKE = @ 6236 M — @® 18 M@ = 6,048

202558 [TalF-» RS 30m) | &, —BEEiIc< s~ 188 HETY,

(PUEERSE L)

6,048 mx 0.1 + 1.1 = |549 M| XIARBIYIET




